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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT guestions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

GQuestions no. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing ot least ONE question from each section.

The number of marks carvied by o question | part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stufed clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same elearly.

Normal probability distribution table is attached for necessary reference.

Abtempts of questions shall be counted in sequential order. Unless struck off, attempt of 6 question

shall be counted even if attempted partly. Any page or portion of the poge left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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TEHUE A
SECTION A

= et fEua v gee & @y 1 gfaa & Tew ams ude 8, 3o
AT TR ® T 9T, 394 e o gam o i Fr sftas wEEn 212
o # | e AT § @ s A & T 9w gen gw st st
# | 150 R & fom mu ouw wived O sfimes () 2013 w9t ek
45.5 F9 = WEH Tawer 9w ) 3R 3 gitmm giEe s E T ovEs A
wwt T @ =g wedd e R, A 28 Sl & Sl | 5% oW,
ey i FEtE T g ?

[T Tamer amwt qieas & @3 § 4t 7 2

The manager of a hotel baged in New Delhi reports that the mean
number of rooms rented out per night is at least 212 based on his
vbservation for the past several months. One of the corporate officials
feels that this number might be somewhat over-estimated. A sample of
160 nights produces a mean of 201-3 rooms and a standard deviation of
45-5 rooms. If these results suggest the manager has inflated his report,
he will be given a warning. At 5% level, what is the manager's fate 7
[Mormal distribution table is placed at the end of the booklet]

TF BIE ®H F1 UH A5 0 o0 AUE0ees Ve & S0 I F98H w5
frar & | 2 eg A 3R B =1 e o T B ST Heias @rml @1 e
T UERE T W g 2 | A & T i fEm e $ 4,00,000 #E B
& fom = 3,00,000 80 | wftwdl @oa @i g6E A S w100 & B &
fere = 110 #ift | = ufs e = 150 Fm

(i)  wris e & e, dqea-ew fag = e Fis |

(i)  FegrEe 1 fRm w0 Y ST fasRey s gATE d 7

A small firm intends to increase the capacity of a bottleneck operation
by ‘adding a new machine. Two alternatives A and B, have been
identified and the associated costs and revenues have been estimated.
Annual fixed costs would be T 4,00,000 for A and ¥ 3,00,000 for B.

Variable costs per unit would be ¥ 100 for A-and ¥ 110 for B. Revenue
per unit would be F 150,

(i) Determine each alternative’s break-even point .
(ii) At what volume of output would the two alternatives yield the

I

same profit ? S+6=10
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(¢) U wigzdw, St s wmam vl w0 % fae wfirsfFe femomn
®, & I9IE N HA SE % F B9 H q= W Gl & | Gideddn H=dt amt
JarEll 1 IeE AR HAT % w9 H H9e o gn e Ea-Rafor i sad
gfr ot fama Sifsm |

A new software which has been designed for providing e-business
solutions can be sold both as a product and also as a service, Consider
two examples of software as product and service and discuss the pricing

and promotional strategy for the same. 10

(d) %2 i T wd qun siAens W & e Al e wave fafit & ded |
FH g 2 7 A S AU BT F 6 S5 o 59 Hied, WUgn,
feamor it gen =maw 1 gl sEen @Ed nfafafie w0 afife s
wgez Hifag |

What are the differences in respect of supply chain management
practices between a brick and mortar firm and an online firm 7
Mustrate by taking examples from Walmart and Amazon.com
encompassing supply chain activities of sourcing, storage, distribution
and retailing, 10

(e) 3o Wi o ¥ faemee stfimm Rl ssmom, 080 2 | 38 wifds & T
T sfiam =1 fawfim w0 i @ = g9 w9 e F s @ wn
He&dl 2, 0-40 8 | 38 A 89 1% 9 31 wead waa &, @ = owfima R
AN i W & gt 8 v s ar w sifiee & faah a8 9 o

The probability that a new advertising campaign will increase sales is
0-80). The probability that the cost of developing the new advertising
campaign can be kept within the original budget allocation is 0-40,
Aszsuming that the two events are independent, what is the probability
that the cost is not kept within budget or the campaign will not increase
sales 7 10
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Q2. (a) WMN UF B¢ TG FOGH & T=GGE B AT G096 99 B BSwl ATTH TH
fafae swuafy & fom Frem 8 ) smo v 8 R 39 aftss = fifge =3,
TET 1 IeAIe Wi W | i 39 =TE foh 9 $H #=y whi Wehld i 3
=it A, o & afts e (Fe) = & i o @ gefim s &
IeqreA i A wiaeEnft w1 w% o =i T w1 3gam wfhew fifae %
e T F Fuim & e d wows | A 5 oww w19 F A e e
wim W § Frad afres Pifae & o 8w fgdl § seom war @ ) =
Fr=ferfias gmoft & femm = 2 -

it
witrenl &1 Hen T W IeEA (29)
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0o | =3 | S [ O | & | Q8| B2

20

i)  whl smE EifE |

(i) wAEE i FEUE F AE W OFE T ag R wmaEe e
farmft Hifim |

(iii) Afe afERl 6 @@= 10 9% 9@ & W, @ 3EAE @ Ieqred feen
& 2
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You are the manager of a small steel mill and all vour inputs except
labour are fixed in the short-run. You suspect that as the input of labour
increases, the output of steel will also increase. But you would like to
know more about the nature of this relationship so that you can predict
the output of steel associated with any level of labour input and use this
information to determine the optimal level of labour input. To achieve
this goal, you conducted an experiment in which the level of labour input

is varied for 8 working days. This is shown in the following table :

Table

Observation Number of workers

Tone of steesl
production

4

6

10

10

15

15

| @ | o | e (||~

16

0o [ =3 | | on | = | ca | b3 | =

8

20

(i) Draw a scatter diagram.

(ii) Develop the predictive regression model after finding out the

values of intercept and slope.

(ini) If the number of workers is increased up to 10, what would be the

output of steel 7

)  T=feafes w aiee ol ffe

(i)  HTEE EE
(i) TEeEd
(i) A 4

Write short notes on the following :

(i)  Cyber Security

(ii)  Cryptography

{111}  Ethical Hacking
EGT-DMMGMT 5§
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fc) (i) 391 3N IR UEYA o |9 oo 8 7 Serm o HerEe | w9
Hifam |
(i) HEr wEwEE w1 s svd i afie & geen @ dwen a9
oHg AUF HioA1s @ AEA w1 95 8 | R o, 5 w5 e i A
g # o fafwio = off # S s gedt s o il B
=rE FHfFu | vF e 9 A (e - ) § s Zmn
fafamin Tes (SEmm - geengl) ® ww go Sifan |
(i) What is the difference between Production and Operations
Management ? Illustrate with the help of examples.

(ii} Service operations often face more difficulty in planning than
their manufacturing counterparts. However, service does have
certain advantages that manufacturing does not have. Explain
service planning difficulty and the advantages. Compare by
taking one example from a service organisation (e.g. hospital) and
another from a manufacturing organisation (e.g. automobile).

5+10=15

Q3. (a) &H WA
XYZ wsfi4 ud geragi-as
T 2016 % HWEY § SwET 9Hi, FeweR TYfd weeH, XYZ 59
AT IEH, A e % e % ey oI gl s w5 o
w6 & faw A faen-fEwsl & w fe | 9 i @l @ A Sl -
T e Hiel IAE| & WiEgl & ¥4 A Hdt it vfemtis fafa @ S
o, B wm gnadl ) aft v § @ v fmn o @ | S0t am A

Al T fa=m w0 gt o | " % gure et = wifteen faa e e
Tz dfvas G & @ T @YEgal 1 9 T |

XYZ uefta ve geieeie

XYZ wifA v8 sewgeg Fveend gus & v fawm B, o0
wefift aeodl it agemey weetEe d fadmg 2 ) wefE G
el HN e sifigE B9 e fl 9 & 15 = wEeE 8eE b
i faumm seEgiEg e ot 8 | XYZ 1 2016 & 5H o !
TN T 15,000 Firg 6 fred & = 5,000 iz e aqE F ol wEwe
et g w+ o o | agfd wEeE Teaeet 1 15 =EE fawer & de
TP fem 7 & | s ® STO e A YR wEwA E@WE @ S R
waus =1 frdrd s 8 afem S 6 Aifeel s aienedt = sgeo s
8 | Fane fifa =i gy et i Tl 8 deitm anfEs w1 8 s,
Fol & w3yl v et o R
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AT i 2y

Ao+ iaead wm & U e & fou, XYZ S v e e &
gt watfaa il F1 @ra i srEvEEm off | s wie anfdEale F oy
F1 #4131 favcan =01 & sl ser = Ry o1 & 19 50a sEss
2 o a7 9fvas wm W = = gy &t

Sy Hie

2016 76, XYZ 9 3fFa% w0 W aw sivens sfesmm smaywasa &
Th WU % ¥4 W @ wiegdl i oft | s e W aftfEre faame
semfre (o d.) fam, frld XYZ & semaifias amml = ffdem
Ush HIY o w9 § 2015 § 3uifda Bea o an | dn g 3 Sae R wet @
Eiiggr! T8 @ afew I8 R | e Yeed o wanfua @ oft o, ew
% 92 soht IearEs Tt # F v % 3w s Bafo ) @od = e
Fqva XYZ g1 #AfwEE e =m & gest smeg gam w1 | wEwem, o
g v = gl i wel @ wii o e ow ol # w2 d S
e | #@ed 3 o & o ufien ¥ w9 (srineeta) B w@lie e =
fean 3it a1 ® =t St wareEl &) ot s o Fmg gl d wnarfe
& e |

E 9 A % g wEgwl § 8 welw 8 gos e @ s e
wrrdaRT gan e s & afvs |l B wren § R fee e o s
% Had H Ue% % U e & gl S = 5o w7 ¥ wuw §F fau
=g® A8l O | 7 sl d @ sifusmm wiwm, e Fas, i ok
aug Hf=a of |

v q H.0E, A wEus A g wanes & e i s s
* fau o fFn | g el 3 9 Faw 3o @ & Fafn R,
afes fmg smafd |vm 3 39 gee @ & R @ od ofien & aent W
gnfag | e | iR, T el o e = oam sl B wug
witegrl & Wit @ 4 w4 (F9a) F1wE 10% F 18% W | gie gl
# gen § wrg A wliegr # w9 w1 WE 25% § 40% @ | o s
feron <61 wmed wgd w9 of | 39 HaE % 9g S =@ o e 9w
T L GHAT B 7
(i)  wTE Fi - ol oo S e w7
(i} AfYEe Hiaq wEn S w9 & o s ey # 0

(iif) ¥ XYZ =1 ufgrn 8 simidfe gl weas swiem 4 o fasm 2
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Case Study

XYZ Machine and Electronics

Early in 2016, Shekhar Sharma, Director of Supply Management
in XYZ Machine and Electronics, met his company’s President at the
President’s request, to discuss reducing material costs, The meeting
centred on the company’s historical position as a buyer of only domestic
products due to constraints in government contracts, that had recently
been removed. The company could now consider global sources. The
meeting concluded with Sharma receiving authorization to explore the
cost-saving potential of global sourcing.

XYZ Machine and Electronics

XYZ Machine and Electronics is a division of a worldwide
conglomerate that specializes in precision machined produets and
aerospace electronics. While largely government and defence oriented,
the company has one commercial aviation electronics division among its
15 autonomous operating groups. Total sales for XYZ during 2015 was
approx. ¥ 15,000 crores with over ¥ 5,000 crores being spent by supply
management departments of various groups. Supply management
function is divided among 15 autonomous divisions. Each has its own
supply management department, which reports to division management
but adheres to corporate policies and procedures. There is a relatively
small corporate supply management staff concerned with corporate
policy and common goods and services.

The Cost Reduction Objective

To maintain its competitive position, XYZ needed to explore all
possible ways to reduce costs. In addition to analyzing and working with
its domestic suppliers, Shekhar believed it was necessary at this time to
begin considering global sources.
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Global Sourcing

Until 2016, XYZ had only purchased globally as part of an offset
countertrade requirement. The other exception was the Commercial
Aviation Electronics (CAE) division, which had been acquired in 2015 as
a means of diversifying XYZ's electronics markets. CAE not only had
been buying from foreign sources but also had established a factory in
Singapore to source and manufacture one of its product lines. CAE's
offshore experience began before being acquired by XYZ. At first, parts
were purchased from Singapore and other East Asian sources. These
parts were then assembled in this country. Soon CAE began to buy
assemblies in East Asia and finally all factory operations were shifted to
their own Singapore facility.

When Shekhar contacted each of the other's supply managers, he
was surprised to discover that each one had a collection of horror stories
of past attempts to establish global sources of supply and was unwilling
to try again. Most of these stories centred around problems of
communication, quality control, eredibility and understanding.

Shekhar again contacted the CAE supply manager to discuss
details of the Singapore operation. Not only did the Singapore factory
build a product line, but also the Singapore supply department sourced
components for that product line from throughout East Asia. Initial cost
savings from first buys including engineering, test fixtures and other
start-up costs ranged from 10% to 18%. Subsequent purchases yielded
savings in the 25% to 40% range compared to domestic sources. Quality
and delivery problems were minimal. Following that conversation,
Shekhar wondered what he might do next.

(i) What are the problems being faced by the organisation ?
{ii)  What choices for starting a global sourcing programme exist 7

(iti}  Would XYZ benefit from an international supply management
office in Asia ? o+ 1i+5=20

by Fafses wia & @t = FRFR § § 2 ow fifve | Ehes v % et @
e F4 H 3 g wen mee w1 2 e fifsm

What are the nine pillars of Digital India ? Explain. How are these going
to help in achieving the objectives of Digital India ? Discuss. 7+8=15
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(c) U HS ® g I & w0 Hatia T anens s ana S % gEy
I forrmd wraE B @R | 9 OAREN % GWYH Mo o e gned
e 4 vy w92 w g @ e au wdl gt S w
¥ 1w Ei = R | 9y wrE R g it w5 somels % wate
# = @l w5 # A i & 3R gy 20 fime o sfae 52 wEe
i # | waly, Wy amwiea 2 fF g wfus sd=fal = dasi 6 ain
2, 1 gz ofte Jfl guen I = ogEA E |

(i} e ® wfEd w5 8 A wiEea 5 Buffe 5= e G
20 fimz & e W 9N HHEnl A, Tees soesy e f awen
Io9+ B Hedl |

(i) W w1 AfEdE =9 ° =\ wihws & ot Fafor s fm B R
20 fime i safy % 2@ =n 3 it Feart amin |

[E8 TOE % H1Y WE 629 QR gerd 8]

An organisation has been receiving complaints with regard to the
work-related stress problems being faced by young employees. In order
to address this problem, the organisation has hired a professionally
qualified counsellor who has been assigned the task of counselling the
yvoung reeruits. It is found that the young employees’ arrival at the
counsellor'’s office fits a Poisson distribution with an average of
5-2 employees every 20 minutes. However, the counsellor is concerned
that if too many employees need the services, a crowding problem may
develop.

{iy  The counsellor must determine the probability that four
employees will arrive during any 20-minute interval, which could
create erowding problem,

{ii)  The counsellor must also calculate the probability that more than
four employees will arrive during any 20-minute period. S5+10=15

[Poisson distribution table is attached with this problem]
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Poisson Distribution

u
% 3.1 3.2 a3 3.4 35 a6 37 3B a8 4.0
& | popsss 0.080B 0 00862 200716 0OTT 0O0AZE  0.0881 00936 00888 0.1042
7| pope no2TE 00312 00348 00385 0 00425 DO4EE 00508 0U0551 0.0545
6| oopos 00111 00128 00148 00168 001 00216 00241 00268  0.0208
g | 00033 00040 OO0M47 00056 00066 00076 0003 00102 00116 0.0132
10| oooi0 o003 00018 00019 00023 00028 00033 00038 00045  0.0053
11| opoos opoDde 00005 00008 00007 00008 0OD11 0O0M3 00016 00019
12| 00004 o000 00001 00002 00002 0 00003 00003 00004  0DDDS  0.0008
13| QOO0 ©OOOOG 00000 00000 00001 GO0001 00001 00001 00002  0.0002
14 | 00000 00000 00000 0 00000 0 00000 0 00000 0 00000 00000 00000 0.0004
1]
x 4.1 4.2 43 4.4 4.5 4.6 4.7 48 4.4 5.0
0 | 00166 00150 0 00438 023 00111 0i0 00081 00082 00074 00067
1 Q0E7Td 00830 00583 2 DOS40 0 00500 0 DAME2 00427 00305 00385 0.0337
2 | pA3e3 04323 04254 04188 0125 04083 04005 00848 00834 00842
3 | D1904 041852 04708 04743 04687 01631 04574 01517 01480 D.1404
4 | 0,851 D944 01933 01817 01838 01875 01848 01820 017BR 0.175G
5 | 01600 01833 01662 01687 04708 01725 Q1738 04747 04753 D755
& | 01083 01143 01191 01237 01284 01323 04362 01398 01432 01462
7 | 00840 00686 00732 00778 00824 00863 00914 0085 01002 01044
& | ono3Z8 00360 0 00383 0 00428 OD4E3 00500 00537 00575 00614 D.E53
8 | 0o1sp 001688 00188 00208 00232 002550 00281 00307 00334 D.0B63
| o001 ©000TYT 00081 00022 0 00104 00118 00132 00447 00184 0.0181
11| oo0z3 00027 00032 00037 00043 0 00049 00056 2 00064 00073 0.0082
12| nooos 00008 OO0 00014 00016 00019 00022 00028 00030 00034
13| poop2 00003 00004 00005 00006 Q0007 00008 00008 00011 00013
14 | 00001 00001 00001 00001 o002 00002 00003 00003 00004  0.0005
18 | ooODO  000DD 00000 00000 0000 00001 00001 0,000 00001 0.0002
[
¥ 5.1 5.2 5.3 54 55 5.6 57 58 59 8.0
0 | 00081 00055 20 00050 20 00045 0 00041 00037 00033 00030 00027 00025
1 | o034t 00287 00285 0 00244 00225 00207 0091 QOMTE 0OMBZ 00140
2 | oores 0O746 O0OF01 00659 00618 00880 00544 00508 00477 0.0446
1 | oi34a 04203 01238 D486 01433 04082 01033 00885 Q0038 00892
4 | 04719 04881 0DB41 DBDD 01558 01515 01472 01428 01383 01330
5 | 01753 01748 01740 01728 04714 01697 01678 01658 2 01632 0.1606
& | 01480 04515 04537 01585 04571 01584 01584 1601 01605 01606
+ | od0BE 0125 04163 04200 04234 04287 04298 01388 041353 01377
8 | 00892 0073 00771 00810 O0B4S 00887 00925 00862 00998 01033
& | 00392 00423 00454 00488 00512 00852 00586 00620 00654  0.0688
10| o000 00220 00241 00282 00285 00308 00334 00358 00386 00413
11| 00083 00104 00118 00428 00443 UMST 00173 0090 QoR0Y 0.0225
12 | 00038 00045 00051 oOfSA  DO0&S Q0073 0 00082 00082 00102 QD113
13| 00045 00018 00021 00024 00028 00032 00036 00041 00046  0.0052
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Q4. () () Too gfodaw iR whE w99 % dE w9 § 7 SgEi o wermar |
=qreE i |

(i) v wefiA s = fafmia e s 2 sdh oddn fagg anht &
A=A # W aten e wE 80 il o ues faeem 40 e
F1 ¥ | atwdl B gy o # feed 64 w0E & foro A
T # whbE e omn o ) selt = owiew R B o shem
88 fimel & sifirs gm0

(ST w2 wroit gftaet & ata 1 #)

{i) What is the difference between cluster sampling and stratified
sampling ? Explain with the help of examples.

{ii} A manufacturer of machine tools elaims that the mean amount of
time required to assemble their top-of-the-line electric saw is
80 minutes with a standard deviation of 40 minutes. Data was
collected from a random sample of 64 past purchases of this
electric saw. What is the probability that the sample mean will be
greater than 88 minutes 7 S5+10=15

[Normal distribution table is placed at the end of the booklet]

(b) =1 3R g1 % " = fawm # 0 em gane s (e, $oge
HHheqa1 &1 giag @A s amge 6 oo @, wedg daeEi F ways sk
yEEE A o fee wwR weme o= g | gfR sew o oee §
LR, F e e R, @ o3 =Een w fols o % fom o wim
Taamfa fawg & 2
What is the difference between data and information ? Introduce the key
concept of Enterprise Resource Planning (ERP) and how ERP can help
in managing organisational resources and operational planning. If vou
have to implement ERP in your organisation, what will be the key
considerations for deciding on the system ? F+5+7=15
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(e) (i) HTSA R WSl T 9T ] T gEgHl & e S S AEeEsal
w4l wrefl @ 7 39 v §, ABC fawemor wre i wEEm FH wa @ 2

(i) UH TeA % fom anfde wmewm men & i § SR el
(¢=-a1T%) afmfem & 2

(i) U SN F9ET & GG FEET & A0 B o B9 A 9Piie TTEe
fidmamm A S A am e, mdE i mem e S
wiier 30 # 45 el & wwa & qoa i fvemn qo & | #7 sl
#F gltgm i o ;. wm, 9Ea 38 fae A ame s 3 e
Hrgq, sites 37 fime ot wes famem 2.5 five ain =ifims, sl
37-5 fime 3 o= fmem 18 fime | = wrfleri § | Reosr am
gue It 7 = S |

{i) Why do items managed or procured by an organisation need to be
classified ? How does ABC analysis help the organisation in this
regard ?

(ii) What trade-offs are involved while determining economic order
quantity for an organisation ?

(iii) As part of an insurance company's training program, participants
learn how to conduct an analysis of clients’ insurability. The goal
ig to have participants achieve a time in the range of 30 to
45 minutes. Test results for three participants were : Shyam, a
mean of 38 minutes and a standard deviation of 3 minutes;
Mohan, a mean of 37 minutes and a standard deviation of
2-5 minutes and Kaushik, a mean of 37-5 minutes and a standard
deviation of 1-8 minutes, Which of the participants would you
judge to be capable ? Explain. S+H+10=20
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T rE B
SECTION B

Q5. (a) wEAHs fFEw sl (mfae) % ge mw & GEEw Fibw | ad
T Tt g W 3wl 6 3 9fd @ o 2 2 uftew Hifsw fs e
wn faw. fomeel gg & 3 w5 fel el & wfiferm = gum = e 2 )

Discuss the key objectives of the Public Distribution System (PDS), How
are these ohjectives being delivered by our existing system 7 Examine
how efficient our PDS is and if it can be improved by involving private
parties. J+3+d=10

(b) =i afEd v i F i e i Ries i s e o2 & R
form yen wgudls SafEt smfa e Fator s £

Miustrate with examples, how do MNCs set transfer pricing to take
advantage of differential tax rates in different countries. 10

(©)  HEfT (R o glade (Heeww) e R 7 ww v e = fEE
ey i & fafie aupmt i fadem it | R fER &, w5
gawe & féu e 1 39w g 2

What is the difference between Strategy and Tactics ? Discuss the
various approaches for turning around a sick company. What will be
your approach for turning around Air India without going for
disinvestment ? F+3+4=10

(d) HHER G & gaE-ais G o aem f e fif )
A T AEESED = S Fufor =60 7 3w e 5 e w1 S R
s B o Ee fifae

Ihscuss an approach for macro-economic analysis of the business
environment. How do you determine industry attractiveness 7 Discuss a
framework for analyzing industry structure, S+d+3=10
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(e) Tt fomnftm svdemamen 4 o% S0 St v fefte oft seafasfa 2o 4
& afEemn o fEm = i g w2, % g e 3 aw fafim
wifiawt %1 fad=m $ifow | 78 Wi sy & sm W fBed 3 ae ifeE 55

FH FH FT |

Discuss the various perceived risks for a company from a developed
economy planning to invest in a new project in a developing and
underdeveloped country. How do you propose to mitigate these perceived

risks ?
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A conglomerate is operating in five business verticals and has reported
performance as given in Table 1 below :

Table 1 : Performance Data
Business unit A B C D
Sales {in ¥ crores) 4-0 | 180 | 170 | 350 | 60

No. of competitors operating
in same vertical

6 20 16 3 8

80 | 180 | 170 | 35-0 | 280
740 | 180 | 130 | 10-0 | 20-0
40 | 12:0 | 90 80 | 150

Sales of market leaders
{in ¥ erores)

Industry growth rate
(% in value)

Industry profitability, % of sales 8.0 B0 9.0 50 &0
Total size of the industry
{in ¥ crores)

Business unit profitability,
% of sales

% of =ales of the buziness
unit from its international 00 | 10-0 | 40-0 | 250 | 50-0
operations

160 | 180 | B0 50 20

230 | 122.0 | 840 | 530 | 73-0

70 | &6 | 100 | 60 [ 120

The company is evaluating the different divisions in itz portfolio and
would like to consider (i) the BCG and (ii) GE-McKinsey framework to
decide on which of these divisions to focus its resources and also which of
the divisions to divest, giving reasons why. 10+10=20
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What are the salient features of the Companies Act, 2013 that would
promote Business Initiatives, Corporate Governance, Corporate Social
Responsibility and protect investors 7 15
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Digcuss key considerations of identifying a joint venture partner. Why
do we go for JVs in business ? What are the various types of JVs that
can be formed and what would be their management challenges ? 15
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Global firms face three possible types of foreign currency exposure
namely, Transaction, Translation (Accounting) and Economic. What are
the different strategies organisations can adopt to deal with these
exposure risks 7 20
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We have many industries and services managed and controlled by the
Government and run as Public Sector Undertakings. Discuss the
advantages and disadvantages of the government managing these
corporations, taking examples under each category. Also give your

recommendation, giving reasons why. 15
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What are generic strategies ? Why can generic strategies not deliver
above average performance ? Discuss briefly, business strategy
development process. d+4+7=15

Q8. (a) TA.UHUAZ. &3 & Fo9E gftwry w2 2wl svefemere § wmoum i
#9% & AreA o fadeen Fifve | vme @ wmowmd g o 9fy O wees @
e Jret ot w2t i vwe w1 39| i |

What is the current definition of MSME sector ? Discuss the
contribution of SME sector in our economy. Mention five broad policy
initiatives that can help growth of SME sector in India. H+545=15
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Elucidate the concept of core competency. How does it help an
organisation fo create competitive advantage ? How do organisations
identify, develop and protect its core competencies 7 S+5+5=15
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Why are Free Trade Agreements signed 7 What are their advantages
and disadvantages 7 Discuss the stages of evolution of a domestic
corporation to finally emerge as a global conglomerate. 5+5+10=20
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